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J 195 M
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SEEREDHADDMN10MLH DD T, J0mLDKTEOHNIELLY, o T, 5
BHREOOHADDEKTED-HEDEIL 10+440=50(mL) TH B,

— . 2ERBEDDHADPIL 100-50=50(mL) ENIZELLND T, 2{&EHED
HADRHEKDEIF25mMLT DTH S,

LLE&KY, 2{EBIEDOHADPE25mL. JKIk 40+25=65(mL) JEEIELLY,
&>T 65mL
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T 2857.4 cm
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Z (L (3000 x 3) + (3008 x 200) =16500(FH) TH 5,
8HENLI=V A0 —F1EH-YDEEREZOAET 5L, O x200 A 16500
FYKREITNIZFBENHEEDT

165000-+-200=82.5
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T 1+2+3

(FHz83]

(RIRE2]ERBRIZE R D L.
(142+3+4+5) X (1+2+3+4+5) =225 (cm)
&>T 225cm
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2025
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[FEEN AL ARUSLDEZT
13 4+ 23 4+ 3% + .-+ 203=44100

[fRE2] EA#IZLDERA
(14243+---420) X (142+3+---+20) =44100
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2025+-20=1015RY5

101+20=55RY1

&£2T 2025=400 % 5+20 X 1+1 X 5
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L= > TR BEHETHD,
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20D BLH8, 1DHELATIED T
20% 8+17=177
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[f2;£2]110E X TRLTHDETE

(20 X 19+12) - (20 X 6+4) =268 —
268--20=1341)8 F2T  pee




